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(a) 1

(b)

14+1="77
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[d/dzx][xe¥Y + y] = 77 \

(@) e¥ 4 zeVy’ 4 o/

(b) e¥ + ze¥ + 1
(c) e¥ + ze¥ 4+

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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[d/dx][xe? + y] = e¥ + ze¥y’ + 3/
= e¥ + (ze¥ + 1)/ rxed +y=1
y' = 77

(@) (1 —e¥)/(ze? + 1)

(b) e¥/(ze¥ + 1)

(c) —e¥/(xe¥ 4+ 1)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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y = —e¥/(ze¥ + 1) reY +y =1
slope at (0,1)7

(a) —e
(b) O

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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f8) =7, f(8)=—-4
g=f1
g(7) =77, g’(?) — e

(a)8, -—-1/4

(b)8, 1/7
(c) not enough information

(d) none of the above
0% 0% 0% 0%

> Vv
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g=f""1
f(6) =29, f(6)=1/4
g'(6) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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END
QUIZ



END
CLASS



[d/dz][(cosy) + 23] = 77

(a) —(siny) + 6y2
(b) —(siny") + 6(y)?

(c) —(siny)y’ + 6y2

(d) none of the above

0% 0% 0% 0%
Correct answer:—(siny)y’ + 6y2y |“.— . .~ .
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[d/dx][tan(zy)] = 77

(a) —[sec(ay)]ly + =y/]

(b) [sec?(zy)]ly + zy/]

(c) —[sec®(zy)]ly + =]

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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1

(d/dz)(arctanz) =

1 4+ 22

: (d/dzx)(arctane®) = 77
(3) 1
(b) (arcsec?e®)(e®)

1

©) =i
(d) none of the above

Correct answer: — < | et

1+ (e?) . 5 - .
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flg(z)) ==

[f'(g(x))]lg'(x)] =1
LF'(g(TNIg (T)] =1

(a)1/2

(b) 4

(c)O

(d) none of the above

g=f1
fl(4) =2, ¢(7) =77
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flg(x)) ==
[f'(g(x))]lg'(x)] =1
LF'(g(TNIg (T)] =1

(a)1/2

(b) 4

(c) not enough information

(d) none of the above

g=f""1

f(4)=7,9(7)=4
fl(4)=24(1)=r77

0%

0%
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0%

0%
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g=f""1
f(6) =29, f(6)=1/4
g'(9) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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f(4)=-6, f(4)=8
g=f1
g(—6) =77, ¢(—6) =77

(a)4, 1/8

(b)1/4, 1/8
(c) not enough information

(d) none of the above
0% 0% 0% 0%
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In(1 + [f(=)])

~ fale
r— Qa
provided f(xz) — O
(a) O Tr — Q
(b) In[f(x)]
()14 [f(2)]
(d) none of the above
0% 0% 0% 0%
Correct answer: f(x) N
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lim (sin:c—l—cos.a:)l/m:exp lim 77
r—0t r—0Tt

(a) (1/x)(In(sinx) 4+ In(cosx))
(b) (In(sinx) + |n(COSm))1/$

(c) (1/x) [In(sinx 4+ cosx)]

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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T p2)r1 a 72 d z
(3) 2(1 + 22771 |2 (14 22)| (1 442y

(b) z(22)7 1

(©) [(1 +2)7| [% (2In (14 "“Uz))}

(d) none of the above

0% 0% 0% 0%

R v > ™
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logarithmic derivative w.r.t.  of
— x4 -+ 522 + 2

(a) —423 4+ 10x

(b) —42> + 10z
—x% 4+ 5x2 4 2
—z% 4522 42

(C) — 423 4 10z

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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(@) |

(b) o

z—0 1

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v % ™
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e! —x —1 et —1 _ e’
lim = |im = |im = 77
x—0 x4 r—0 413 r—0 1212
.’L’
(a) al;ino 24x
(b) oo
(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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1

(d/dx)(arctanz) =

1+ 22
1 (d/dx)(arctane®) = 77
@) Ty
(b) (arcsec?e®)(e%)
S %

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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a4 [71/2] — 77

(a) 0
(b)[1/2] [71/2]

() 71/2(In7)

(d) none of the above
0% 0% 0% 0%

R v > ™
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33 + 2 ~
r— 0
(a) 323
(b)O
(C) 2z
(d) none of the above
0% 0% 0% 0%
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4° — 33 -+ Sx2 ~ Fele

(a) 4x°

(b) 82

(c) 8

(d) none of the above
0% 0% 0% 0%

R v % ™
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(a) 62°
(b) 7%

(c) 8z3

(d) none of the above

0% 0% 0% 0%
Correct answer; —8g3 |4A=——EESE=S
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6x° + 7% — 823
im |8 T r Tl =77

r—0 _7:(:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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628 + 7% — 823
im |8 T r Tl =77

r—0 _7:[:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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425 — 724 4+ 4z
im | AE e AT ) o,

r—0 | =223 4 722 — 4z

(@) =2
(b) 1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™
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(a) =

(b) cosx

(c) —coswx

(d) none of the above
0% 0% 0% 0%

R v % ™
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lim ((Sin:r:) + Vz + 1)

r—>2

(a) DNE
(b)) —

() (sin2) + V3

(d) none of the above
0% 0% 0% 0%

R v % ™
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4° — 33 -+ 8x2 ~ 77

r — OO

(a) 4x°

(b) 82
(c)8

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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'H

im ze % = lim ??7 = ...
ot T— 00 T— 00
(a) —
(b)e_x
(c) e”

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 ) 24 | 25 | 26 | 27 | 28 | 29 | 30
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n(1 4+ (3/n)) ~ 77

n — oo

(a) 1/n?

(b)1

(c)3/n

(d) none of the above
0% 0% 0% 0%

R v % ™
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(a) o
OF

(c) DNE

(d) none of the above
0% 0% 0% 0%
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